oA
4 Fn 6 T

FTTHHIV-ONUBE T (£ 2) T.5 E # oz
SEwil I H &
w5 THEHEK 120 HH
Fl G H %
£ M oo & i FE 13, 816, 000 H i T % At
z ® & & M
£ M L FF A H FEm FREEIE HA
Z  ®H O A M
FTTHAV-ONUSEH{ (£ 2) T. 54+
« FTTHHV-ONUBE 5 457 T& P
¥ i ¢ Ed
JL
ELR A e -




HEBIRFEZR
ES )
B B -
& F wH A
TSk (1) (4)
T MmAE G 12, 560, 000
THE BLAE Y %0 (2)=(1)*0. 10 (5)=(4)*0. 10
T2 BiAE Y 485 1, 256, 000
T 3)=(1)+(2) (6)=(4)+(5)
TH5Et 13, 816, 000 0
0




THERFE (BEFR)
(BFAOHNL . M)
N % . (1R Pl B R Ty 5 =
0. T N > ’fii % RN AZaH i3]
HETHEE X 1 8, 530, 105|C1
- . €2 (Clsdmfi ik & =R)
e B (8,530, 105) X 3. 38% = 1 288, 317 | gt i e 1 lg-1t g 70 A S 2 3 P
Wi T2 = 1 8,818, 422[c3  (C1+C2)
e . C4 (CI+HIEHER)
B E st (8, 818, 422) X 23.17% X 1 2,043, 228 ISR | o 2 L A 3
T 535U iy 1 10, 861, 650({C5  (C3+C4)
— % FRE LESETT)) (8, 818, 422+2, 043, 228) X 15.66% LLN Y 1 1,700, 934| (Cox—fpy/& PRy =)
RS -2, 584 T ARIHYI 0 #5C
s \ C6
e AR X ! 1, 698, 350) )\ st 510 T of 30 0 B 8 23
T E ks iy 1 12, 560, 000|C7  (C5+C6)
= 7 12, 560, 000

iER




